
CONC SLAB ON STEEL
DECK (SEE PLAN)

T/SLAB EL

(SEE PLAN)

W BEAM
(SEE PLAN)

REF

1'-5"

B/RELIEVING ANGLE

(SEE PLAN)

4"

1'-0"

BENT PL
7" FACE OF

WALL SYSTEM
(SEE ARCH)

CONT GALV RELIEVING
ANGLE (SEE PLAN)

1/4

(3) SIDES,
AFTER
ADJUSTMENT

1/4 5

NOTE: FOR ADDL INFO SEE
TYP EDGE OF SLAB
DETAILS, DWG S3.2

L4x4x5/16 x0'-6"  LG (PRIMED)
W/(2)-13/16"Ø VERT SLOTTED
HOLES, @4'-0" O.C. (MAX)

L4x3 1/2x5/16 (GALV) @4'-0"
O.C. W/(2)-13/16"Ø HORIZ
SLOTTED HOLES EA LEG FOR
(2)-3/4"Ø A325 GALV BOLTS

T/SLAB EL

(SEE PLAN)

REF

CONC SLAB ON STEEL
DECK (SEE PLAN)

BENT PL
7" FACE OF

FULL DEPTH SHEAR
CONN W/S.C. BOLTS

W BEAM
(SEE PLAN)

WALL SYSTEM
(SEE ARCH)

CONT GALV RELIEVING
ANGLE (SEE PLAN)

1/4

(3) SIDES,
AFTER
ADJUSTMENT

1/4 5

NOTE: FOR ADDL INFO SEE
TYP EDGE OF SLAB
DETAILS, DWG S3.2

L4x4x5/16 x0'-6"  LG (PRIMED)
W/(2)-13/16"Ø VERT SLOTTED
HOLES, @4'-0" O.C. (MAX)

L4x3 1/2x5/16 (GALV) @4'-0"
O.C. W/(2)-13/16"Ø HORIZ
SLOTTED HOLES EA LEG FOR
(2)-3/4"Ø A325 GALV BOLTS

B/RELIEVING ANGLE

(SEE PLAN)

FLOOR SLAB BEYOND

HSS BEAM
(SEE PLAN)

WALL SYSTEM
(SEE ARCH)

1/4
(3) SIDES

NOTE: FOR ADDL INFO SEE TYP
EDGE OF SLAB DETAILS, DWG
S3.2 & SECT 1 & 2, THIS DWG.

1'-0"

1/4

L8x4x1/2 x0'-8"  LG (PRIMED) W/
(2)-13/16"Ø VERT SLOTTED
HOLES, @4'-0" O.C. (MAX)

REF

L4x3 1/2x5/16 (GALV) @4'-0"
O.C. W/(2)-13/16"Ø HORIZ
SLOTTED HOLES EA LEG FOR
(2)-3/4"Ø A325 GALV BOLTS

CONT GALV RELIEVING
ANGLE (SEE PLAN)

B/RELIEVING ANGLE

(SEE PLAN)

W BEAM
(SEE PLAN)

REF

CONT RADIUS 1/4" BENT PL
POUR STOP W/3/4"Øx6" HEADED
STUDS @24" O.C. (TYP)

T/SLAB EL

(SEE PLAN)

(SEE PLAN)

VARIES

10 1/2"

(SEE PLAN)

VARIES

PLAN AT
RELIEVING ANGLECONT HSS

(SEE PLAN )

CONT GALV R.A.
(SEE PLAN)

 EL

(SEE PLAN)

PL 1/2x8 EA SIDE

W/ COL BEYOND

2@12

1/4

1/4
TYP

1/4 2@12

+1/8" CLR

COL WIDTH

L3x3x1/4 ERECTION ANGLE.
PROVIDE ERECTION BOLTS
AND HORIZ SLOTTED
HOLES.

1/4
TYP

CONT HSS
(SEE PLAN)

CONT GALV R.A.
(SEE PLAN)

 EL

(SEE PLAN)

CONT HSS
(SEE PLAN )

 OPNG BEYOND

(SEE ARCH)

CONC SLAB ON STEEL
DECK (SEE PLAN)

T/SLAB EL

(SEE PLAN)

W BEAM
(SEE PLAN)

REF

1'-5"

3 1/2"

1'-0"

7" F.O. POUR STOP (TYP)

WALL SYSTEM
(SEE ARCH)

CONT GALV L6x6x1
DECK SUPPORT

GALV L3 1/2x3 1/2x5/16
W/(2)-13/16"Ø HORIZ
SLOTTED HOLES FOR
(2)-3/4"Ø A325 BOLTS

1/2" FITTED STIFF/CONN
PL @48" O.C. MAX
W/VERT SLOTTED HOLES

L3x3x1/4 DIAG
(SEE PLAN)

5/16" CONN PL EA END
(FULLY WELDED)

1/4
(3) SIDES

REF

REINFORCED PRECAST
CONCRETE BALCONY
SLAB W/CONC WASH (3)
SIDES (BY OTHERS)

EMBED PL's AT SUPPORTS
& RAILING STACHIONS (BY
OTHERS)

1
'-
0
"

1
1
"

1/4 6
TYP

BY
PRECASTER

W BEAM WEB

1
'-
0
"

CONN DETAIL AT COL

V
A

R
IE

S

W BEAM
(SEE PLAN)

1'-0"

1/2" FITTED CONN PL
W/VERT SLOTTED HOLES
(MATCH STIFF/CONN PL
PROFILE AT W BEAM
CONN DETAIL)

CONN DETAIL AT W BEAM

NOTE: PROVIDE BEAM
CONN W/STD HOLES OR
SLOTTED HOLES W/SLIP
CRITICAL (S.C.) BOLTS

COORD
W/RAIL
DESIGN

(B.O.)

TYP (3)
SIDES

8
 1

/2
"

8
"

3" WIDE CONT S.S. PL
(THICKNESS AS REQD BY
DESIGN, BY OTHERS)

7'-4"

W/ARCH)
2 3/4" (VERIFY

CONT POUR STOP
(SEE SCHEDULE)

 
    

9
 1

/2
"

T/L6x6

L3x3x1/4

3/16
(3) SIDES (TYP)

1/4
ALL SIDES

(TYP)

REF

8
"

REINFORCED PRECAST
CONCRETE BALCONY
SLAB (BY OTHERS)

EMBED PL's AT RAILING
STACHIONS (BY OTHERS)

COORD
W/RAIL
DESIGN

GRIND FLUSH
& TOUCH UP
COATING

PLASTIC SHIM STACK (4)
SIDES (BY PRECASTER)

SUPPORT PL 1"x1'-7"Ø

1/4

2
'-
0
"

NOTE: SPLICE PIPE COL AT EA
LEVEL AFTER BALCONY
INSTALLATION. SEE TYP COL SPLICE
DETAIL DWG S3.1. PROVIDE
ERECTION TABS AS REQD.

RAILING (SEE ARCH)

1
/4

"±

1" (TYP)

NON-SHRINK GROUT
(TYP)

TEMP ERECTION TIES (BY
ERECTOR) AS REQD.
GRIND FLUSH & TOUCH UP
COATING UPON REMOVAL

CONC SLAB ON STEEL
DECK (SEE PLAN)

T/SLAB EL

(SEE PLAN)

W BEAM
(SEE PLAN)

11

1'-5"

1'-0"

1'-5 1/2"

5" E.O.S.
2'-7" 2'-7" 1'-10"

W BEAM
(SEE PLAN)

T/SLAB EL

T/LEVEL 1 EL

(SEE PLAN)

T/STL EL

3
"

3
 1

/2
"

CONT POURSTOP
EA END (SEE
SCHEDULE)

3 1/2" CONC SLAB ON 1.5VLI20
GALV DECK W/6x6-W1.4xW1.4
W.W.F. (2" CONC FILL OVER 1 1/2"
DECK = 3 1/2" TOTAL).

SEE ARCH
DWGS FOR
CEILING SOFFIT

4 1/2" E.O.S.

2 1/2" PAVERS ON
1/2" BED (SEE ARCH)

SOFT JOINT (COORD
FLASHING W/ARCH)

1/4 2-8

1/4 8

CONT GALV RELIEVING
L8x4x1/2 (SEE PLAN)

NOTE: FOR ADDL INFO
SEE TYP RELIEVING
ANGLE DETAILS.

L4x3 1/2x5/16 x0'-6"
LG @4'-0" O.C.
(PRIMED)

L4x3 1/2x5/16x0'-8"
(GALV) @4'-0" O.C.

1/2" PL (PRIMED
VERT FACE)

2
"

C8 JAMB BEYOND

U/S PL

7'-0" ABOVE
GARAGE SLAB

L7x4x3/8x1'-0"@ EA END
OF PL & @4'-0" O.C.

5/8

1/4

3/8" BENT PL (INSTALLED AFTER BEAM FIRE PROOFING). HORIZ
PORTION TERMINATES AT C8 JAMB, VERT PORTION EXTENDS
BEYOND DOOR OPNG AS REQD FOR DOOR MECHANISM. (G.C.
COORD W/DOOR REQMTS). COORD COATING W/ARCH.

3'-0"

2

BRG PL 1/2x4x0'-8"
W/(2)-3/4" Ø A325
BOLTS AT BM GAGE

RC

VARIES

W10 (SEE PLAN)

L4x4x1/4 DECK EDGE
ANGLE (BEYOND)

CAST IN PLACE RAMP SLAB
W/6x6-W1.4xW1.4 W.W.F.

3/8" FULLY
WELDED STIFF
PL E.S.

L5x5x3/8" SEAT ANGLE
FOR LOW SLAB

1/8" CLOSURE PL

T/SLAB EL

(SEE PLAN)
T/SLAB EL

VARIES

W BEAM (SEE PLAN)

9
"

CONT POUR STOP
(SEE SCHEDULE)

T/SLAB EL

(SEE PLAN)

W BEAM
(SEE PLAN)

T/SLAB EL

(SEE ARCH)

REF

1'-5"

7"

MIN

1'-9"

9
"

L5x5x3/8 (SEE
SECT 7/S2.2)

#5 12" O.C CHAIRED 1" OFF
BOT/ DECK (SEE  SECT 7/ S2.2)

FILLER PL BY DECK SUPPLIER
AS REQD TO ENSURE 51/2"
FULL DEPTH SECTION x12" MIN
WIDTH (CTRD ON MASONRY
ABOVE). SHORE AS REQD

W.W.F. (TYP)

2#5 CHAIRED 1" OFF
BOT/ DECK

WHERE MASONRY IS CONSTRUCTED
OFF CONC SLAB, ADJUST BASE
JOINT TO MEET COURSING. (COORD
W/ARCH) TYP.

CONT POUR STOP
(SEE SCHEDULE)

REF

REF

REF REF

2'-6" 2'-6"

W BEAM

W BEAM

W
 B

E
A

M

PRECAST CONCRETE BALCONY.
PROVIDE BROOM FINISH (FORM LINER).

SEE BALCONY CONN
DETAIL AT COL

W
 B

E
A

M

W BEAM
SEE BALCONY CONN
DETAIL AT W BEAM

W COLW COL

MASONRY
CONTROL JOINT
LAYOUT (TYP).
COORD W/ARCH

T/SLAB EL

(SEE PLAN)

W BEAM (SEE
PLAN) TYP.

T/SLAB EL

(SEE ARCH)

REF

1'-5"

7"

9
"

L3x3x1/4 (SEE
SIM SECT 7/S2.2)

CONT PL 1/4"x1'-8"

CONC SLAB ON STL
DECK (SEE PLAN) TYP.

1'-3"

3/16 2-8

1/4
TYP

(3) STORIES MASONRY
(SEE ARCH)

T/SLAB EL

(SEE PLAN)

W BEAM (SEE PLAN)

CONC SLAB ON STL
DECK (SEE PLAN)

REF

WALL SYSTEM
(SEE ARCH)

PROVIDE FILLER
STRIP BELOW BRICK
SUPPORT

1'-5"

1'-3"

1/4

WT6x20 @3'-0" O.C. MAX
FOR BRICK SUPPORT
(VERIFY EXTENTS
W/ARCH)

CONT L4x4x5/16

(2)-1/2"Ø HILTI KWIK BOLT
EXP ANCHOR AT EA WT W/2"
EMBED

COPYRIGHT © 2014 BY LAVALLEE/BRENSINGER PROFESSIONAL
ASSOCIATION. ALL RIGHTS RESERVED.

NO REPRODUCTION WITHOUT PERMISSION.

N

SCALE:

REVISED:

DRAWN BY:

PROJECT NO:

DATE:

CONTENT:

Project Phase

2 3 4 5 6 7 8 9 10 11 12 13 14

F

E

D

C

B

A

G

H

I

J

1

155 Dow Street, Suite 400, Manchester, NH 03101
40 Cambridge Street, Charlestown, MA 02129
NH: 603.622.5450  MA: 617.398.2035 www.LBPA.com

As indicated

6/
25

/2
01

5 
10

:3
8:

21
 A

M
C

:\U
se

rs
\W

hi
tn

ey
\D

oc
um

en
ts

\3
42

2-
T

H
E

 P
A

R
K

 D
A

N
F

O
R

T
H

-R
15

-S
T

R
U

C
T

-C
E

N
T

R
A

L_
W

hi
tn

ey
.r

vt

S3.3

3422

05/27/15

A.P.P.

FRAMING SECTIONS & DETAILS

Package 2 - Foundations and Structural Steel

The Park Danforth

Owner

77 Stevens Ave, Portland, ME 04103

SECTION
 3/4" = 1'-0" S1.4C

1 SECTION
 3/4" = 1'-0" S1.4C

2 SECTION
 3/4" = 1'-0" S1.3C

3

SECTION
 3/4" = 1'-0" S1.3C

4

SECTION
 3/4" = 1'-0" S1.2C

5

SECTION
 3/4" = 1'-0" S1.2C

6

SECTION
 3/4" = 1'-0" S1.1C

7

SECTION
 3/4" = 1'-0" S1.1B

8 SECTION
 3/4" = 1'-0" S1.1C

9

DETAIL
 1/4" = 1'-0" S1.3C

A

SECTION
 3/4" = 1'-0" S1.1C

9A SECTION
 3/4" = 1'-0" S1.5C

10

S1.4C, S1.5C S1.4C, S1.5CS1.4C, S1.5C

S1.2C, S1.5C

S1.2C, S1.5C

S1.2C, S1.5C

NO. DESCRIPTION DATE
2 GENERAL REVISIONS 06-25-15


